
2 2 endlich 1/  2 = 0,5

  3 3 sofortperiodisch Periodenlänge: 1 1/  3 = 0,3

2 4 endlich 1/  4 = 0,25

    5 5 endlich 1/  5 = 0,2

2 3 6 spätperiodisch Vorperiodenlänge: 1 Periodenlänge: 1 1/  6 = 0,16

      7 7 sofortperiodisch Periodenlänge: 6 1/  7 = 0,14285 7

2 8 endlich 1/  8 = 0,125

  3 9 sofortperiodisch Periodenlänge: 1 1/  9 = 0,1

2   5 10 endlich 1/ 10 = 0,1

        11 11 sofortperiodisch Periodenlänge: 2 1/ 11 = 0,09

2 3 12 spätperiodisch Vorperiodenlänge: 2 Periodenlänge: 1 1/ 12 = 0,083

           13 13 sofortperiodisch Periodenlänge: 6 1/ 13 = 0,07692 3

2     7 14 spätperiodisch Vorperiodenlänge: 1 Periodenlänge: 6 1/ 14 = 0,07142 85

  3 5 15 spätperiodisch Vorperiodenlänge: 1 Periodenlänge: 1 1/ 15 = 0,06

2 16 endlich 1/ 16 = 0,0625

              17 17 sofortperiodisch Periodenlänge: 16 1/ 17 = 0,05882 35294 11764 7

2 3 18 spätperiodisch Vorperiodenlänge: 1 Periodenlänge: 1 1/ 18 = 0,05

                 19 19 sofortperiodisch Periodenlänge: 18 1/ 19 = 0,05263 15789 47368 421

2   5 20 endlich 1/ 20 = 0,05

  3   7 21 sofortperiodisch Periodenlänge: 6 1/ 21 = 0,04761 9

2       11 22 spätperiodisch Vorperiodenlänge: 1 Periodenlänge: 2 1/22 = 0,045

                    23 23 sofortperiodisch Periodenlänge: 22 1/ 23 = 0,04347 82608 69565 21739 13

2 3 24 spätperiodisch Vorperiodenlänge: 3 Periodenlänge: 1 1/ 24 = 0,0416

    5 25 endlich 1/ 25 = 0,04

2          13 26 spätperiodisch Vorperiodenlänge: 1 Periodenlänge: 6 1/ 26 = 0,03846 15

  3 27 sofortperiodisch Periodenlänge: 3 1/ 27 = 0,037

2     7 28 spätperiodisch Vorperiodenlänge: 2 Periodenlänge: 6 1/ 28 = 0,03571 428

                       29 29 sofortperiodisch Periodenlänge: 28 1/ 29 = 0,03448 27586 20689 65517 24137 931

2 3 5 30 spätperiodisch Vorperiodenlänge: 1 Periodenlänge: 1 1/ 30 = 0,03

                          31 31 sofortperiodisch Periodenlänge: 15 1/ 31 = 0,03225 80645 16129

2 32 endlich 1/ 32 = 0,03125

  3     11 33 sofortperiodisch Periodenlänge: 2 1/ 33 = 0,03

2             17 34 spätperiodisch Vorperiodenlänge: 1 Periodenlänge: 16 1/ 34 = 0,02941 17647 05882 35

    5 7 35 spätperiodisch Vorperiodenlänge: 1 Periodenlänge: 6 1/ 35 = 0,02857 14


